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Ildentification of Variables

p = frequency of allele 1 (dominant) q = frequency of allele 2 (recessive)

Hardy-Weinberg

Ui e =
- ptg=1

2pq =frequency of allele V/allele 2
(heterozygous)

p? = frequency of homozygous allele 1 9 = frequency of homozygous allele 2
(homozygous dominant) (homozygous recessive)



Math Monday #Z Hardy-Weinberg

In a population of penguins, the fluffy feathers (F) is dominant to smooth
feathers (f). If 15% of the population shows smooth feathers, what
percentage of the population, to the nearest tenth, is heterozygous of fluffy

feathers. -
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0.612 0.3%7 0.27¢ 0.474 0.15




Practice Problem Hardy-Weinberg

In a population of trogons (a type of bird) tail banding (B) is dominant to
no tail banding (b). If 68% of the population shows tail banding, what
percentage to the nearest tenth, is heterozygous for tail banding.

ardy-Weinberg 1‘9.]%
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0.434 0.966 0.1%% 0.4 0.22
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